

SHORT COMMUNICATIONS

A GENERALIZATION OF THE THREE
MODULES THEOREM

K.G. Ramamorthy and T. Parthasarathy

Indian Statistical Institute, New Delhi, India

(Received : January 1985)

ABSTRACT

In this paper a new characterization for modular sets and a generalization of the well known Three Modules Theorem are presented.

1. Introduction

A *simple game* is conceptually equivalent to a *coherent system* in reliability theory ([4], [6]). The characterization of *modular sets* of coherent systems and simple games has been extensively investigated ([3], [4], [6] and [8]). In a recent paper, based on analogy with *graph theory* and *matroids*, an operation called *contraction* was introduced for simple games as well as coherent systems. Using contraction, a new characterization for modular sets was given [7]. In this paper, we again make use of contraction to obtain an yet another characterization for modular sets.

The *Three Modules Theorem* is well known in literature. Proofs of this theorem have been given in the context of switching functions [1], coherent systems [3] and simple games [8]. In this paper we give a generalized version of this Theorem.

Consistent with our earlier paper [7], we shall use the set up of simple games in this paper also. However, all the results hold true for coherent systems also.

2. Preliminaries and Notations

Let N denote a finite nonempty set. A simple game λ on N is a function $\lambda: 2^N \rightarrow \{0, 1\}$ satisfying: (i) $\lambda(\emptyset) = 0$, (ii) $\lambda(N) = 1$ and (iii) $\lambda(S) \leq \lambda(T)$, whenever $S \subseteq T$. Elements of N are called *players* and elements of 2^N are called *coalitions*. A coalition S is called *winning (losing)* if $\lambda(S) = 1$ (0). A coalition S is called *blocking* if $\lambda(N-S) = 0$. A

winning (blocking) coalition S is called *minimal* if $T \subset S$ implies $\lambda(T) = 0$ ($\lambda(N-T) = 1$). We shall denote by $\alpha(\lambda)$ and $\beta(\lambda)$, respectively (the collections of minimal winning and blocking coalitions of λ). It is well known that a coalition S is winning (blocking) if and only if $S \cap T \neq \emptyset$ for all $T \in \beta(\lambda)$ ($\alpha(\lambda)$). A player i is called a dummy if $\lambda(S \cup \{i\}) = \lambda(S - \{i\})$ for all $S \subseteq N$. We shall assume throughout this paper that there are no dummies in the game λ or equivalently for any $i \in N$ there exists a $P \in \alpha(\lambda)$ and a $Q \in \beta(\lambda)$ such that $i \in P$ and $i \in Q$.

The dual λ^* of the simple game λ is again a simple game on N defined by $\lambda^*(S) = 1 - \lambda(N-S)$ for all $S \subseteq N$. It is well known that $\alpha(\lambda^*) = \beta(\lambda)$ and $\beta(\lambda^*) = \alpha(\lambda)$.

Let λ_1 and λ_2 be two simple games on N_1 and N_2 , respectively. We define the *composite* simple games $\lambda_1 \times \lambda_2$ and $\lambda_1 + \lambda_2$ on $N_1 \cup N_2$ by

$$(\lambda_1 \times \lambda_2)(S) = \lambda_1(S \cap N_1) \lambda_2(S \cap N_2),$$

$$(\lambda_1 + \lambda_2)(S) = 1 - (1 - \lambda_1(S \cap N_1))(1 - \lambda_2(S \cap N_2)),$$

for all $S \subseteq N_1 \cup N_2$. It is easy to verify that $(\lambda_1 \times \lambda_2)^* = \lambda_1^* + \lambda_2^*$.

Let λ be a simple game on N and A be a nonempty subset of N . We call A a *modular set* of λ if exactly one of the following to assertions holds true for any $S \subseteq A$:

$$(i) \lambda(S \cup X) = \lambda(X) \text{ for all } X \subseteq N - A,$$

$$(ii) \lambda(S \cup X) = \lambda(A \cup X) \text{ for all } X \subseteq N - A.$$

The modular sets are also called *committees* [8]. We see that N itself and all singleton subsets of N are modular sets of λ . The *module* corresponding to a modular set A is a game θ on A defined by

$$\theta(S) = \begin{cases} 0 & \text{if (i) holds true,} \\ 1 & \text{if (ii) holds true,} \end{cases}$$

for all $S \subseteq A$.

3. Some Results on Modular Sets

Throughout this section λ denotes a simple game on N (without dummies) and A is a nonempty subset of N . The *contraction* of λ to A is a simple game on A , denoted by λ_A where for any $S \subseteq A$, $(\lambda_A)(S) = 0$ if and only if $\lambda(S \cup X) = 0$ for all $X \subseteq N - A$ such that $\lambda(X) = 0$ [7].

LEMMA 1. $(\lambda_A)(S) = \max_{X \subseteq N - A} (\lambda(S \cup X) - \lambda(X))$ for all $S \subseteq A$.

Proof. By definition of $\lambda.A$ we note that $(\lambda.A)(S) = 1$ if and only if there exists a $X \subseteq N-A$ such that $\lambda(S \cup X) = 1$ and $\lambda(X) = 0$. The required assertion is immediate.

LEMMA 2. For any $S \subseteq A$, $(\lambda.A)(S) = 1$ if and only if there exists a $P \in \alpha(\lambda)$ such that $P \cap A \neq \phi$ and $S \supseteq P \cap A$.

Proof. Let S be such that $(\lambda.A)(S) = 1$. Then there exists a $T \subseteq N-A$ such that $\lambda(T) = 0$ and $\lambda(S \cup T) = 1$. This implies the existence of a $P \in \alpha(\lambda)$ such that $S \cup T \supseteq P$. We note that $P \cap A = \phi$ implies $T \supseteq P$ or equivalently $\lambda(T) = 1$; leading to a contradiction. Hence we must have $P \cap A \neq \phi$. It follows that $S = (S \cup T) \cap A \supseteq P \cap A$. Conversely let $P \in \alpha(\lambda)$ be such that $P \cap A \neq \phi$. We note that $\lambda(P-A) = 0$ and $(P \cap A) \cup (P-A) = P$ or equivalently $\lambda((P \cap A) \cup (P-A)) = 1$. Therefore we have $(\lambda.A)(P \cap A) = 1$. It follows that $(\lambda.A)(S) = 1$ for all $S \supseteq P \cap A$.

LEMMA 3. $\alpha(\lambda.A) = \{S : S = P \cap A \neq \phi, P \in \alpha(\lambda) \text{ and } S \text{ is minimal with this property}\}$.

Proof. The required assertion is a trivial consequence of Lemma 2. (see also [7, Lemma 1]).

LEMMA 4. $(\lambda^*.A)^*(S) = \min_{X \subseteq N-A} (\lambda(S \cup X) - \lambda(A \cup X) + 1)$ for all $S \subseteq A$

$$\begin{aligned} \text{Proof. } (\lambda^*.A)^*(S) &= 1 - (\lambda^*.A)(A-S), \\ &= 1 - \max_{X \subseteq N-A} (\lambda^*((A-S) \cup X)) - \lambda^*(X), \\ &= \min_{X \subseteq N-A} (1 - \lambda^*((A-S) \cup X) + \lambda^*(X)), \\ &= \min_{X \subseteq N-A} (1 + \lambda(S \cup X) - \lambda(A \cup X)). \end{aligned}$$

LEMMA 5. $(\lambda.A)(S)^* = 0 \Rightarrow (\lambda^*.A)^*(S) = 0$.

Proof. Let $S \subseteq A$ be such that $(\lambda.A)(S) = 0$. Since there are no dummies, there exists a $P \in \alpha(\lambda)$ such that $P \cap A \neq \phi$. We note that $X = P-A \subseteq N-A$ and $\lambda(X) = 0$. Since $(\lambda.A)(S) = 0$, it follows from Lemma 1 that $\lambda(S \cup X) = 0$. We observe that $A \cup X = A \cup (P-A) \supseteq P$; that is $\lambda(A \cup X) = 1$. It follows from Lemma 4 that $(\lambda^*.A)^*(S) = 0$.

LEMMA 6. $\lambda.A = (\lambda^*.A)^*$ if and only if $(\lambda^*.A)^*(P \cap A) = 1$ for all $P \in \alpha(\lambda)$ such that $P \cap A \neq \phi$.

Proof. In view of Lemma 5, we note that $\lambda.A = (\lambda^*.A)^*$ if and only if $(\lambda.A)(S) = 1 \Leftrightarrow (\lambda^*.A)^*(S) = 1$. By Lemma 2, $(\lambda.A)(S) = 1$ if and only

if $S \supseteq P \cap A$ for some $P \in \alpha(\lambda)$ such that $P \cap A \neq \phi$. The required assertion is immediate.

LEMMA 7. *If B is a nonempty subset of A , $\lambda.B = (\lambda.A).B$.*

Proof. Trivial consequence of Lemma 3.

In Lemma 8, we give a simple proof of the main result in [7].

LEMMA 8. *A is a modular set of λ if and only if $\lambda.A = (\lambda^*.A)^*$. In this case the corresponding module is given by $\lambda.A$.*

Proof. We recall that A is a modular set of λ if and only if for all $S \subseteq A$:

$$\lambda(S \cup X) - \lambda(X) \neq 0 \text{ for some (all) } X \subseteq N-A \Leftrightarrow \lambda(A \cup X) - \lambda(S \cup X) \\ = (\neq) 0 \text{ for all (some) } X \subseteq N-A.$$

The required assertions follow from Lemmas 1 and 4.

Let A be a modular set. Butterworth ([4, p. 594] has shown that $P \cap Q \cap A \neq \phi$ for all $P \in \alpha(\lambda)$, $Q \in \beta(\lambda)$ such that $P \cap A \neq \phi$ and $Q \cap A \neq \phi$. This result also easily follows from Lemmas 3 and 8. In Theorem 1 we prove that the converse is also true.

THEOREM 1. *A is a modular set of λ if and only if $P \cap Q \cap A \neq \phi$ for all $P \in \alpha(\lambda)$ and $Q \in \beta(\lambda)$ such that $P \cap A \neq \phi$ and $Q \cap A \neq \phi$.*

Proof. We need to prove only the *if* part of the theorem. In view of Lemmas 6 and 8, we need only to prove that the conditions stated in the Theorem imply $(\lambda^*.A)^*(P \cap A) = 1$ for all $P \in \alpha(\lambda)$ such that $P \cap A \neq \phi$. We note from Lemma 2, that $S \subseteq A$ is winning in $\lambda^*.A$ if and only if $S \supseteq Q \cap A$ for some $Q \in \alpha(\lambda^*)$ or equivalently $Q \in \beta(\lambda)$. Let $P \in \alpha(\lambda)$ be such that $P \cap A \neq \phi$. By hypothesis we have $(P \cap A) \cap (Q \cap A) \neq \phi$ for all $Q \in \beta(\lambda)$ such that $Q \cap A \neq \phi$. It follows that $P \cap A$ is blocking in $\lambda^*.A$ or equivalently winning in $(\lambda^*.A)^*$.

We require the results of the following three lemmas for the purpose of generalization of the Three Modules Theorem. Lemma 10 which is called the *Two Modules Lemma* is due to Butterworth.

LEMMA 9. *Let A be a modular set of λ and B be a nonempty subset of A . Then B is a modular set of λ if and only if it is a modular set of $\lambda.A$ (see [2, p. 18] and [4, p. 595]).*

Proof. Since A is a modular set of λ , we conclude from Lemma 8 that $\lambda.A = (\lambda^*.A)^*$ or equivalently $(\lambda.A)^* = \lambda.A$. By making use of Lemma 7, we get

$$\lambda.B = (\lambda^{\circ}.B)^{\circ} \Leftrightarrow ((\lambda.A).B) = ((\lambda^{\circ}.A).B)^{\circ} \Leftrightarrow (\lambda.A).B = ((\lambda.A)^{\circ}.B)^{\circ}$$

LEMMA 10. If A is proper subset of N then A and $N-A$ are both modular sets of λ if and only if either $\lambda = (\lambda.A) \times (\lambda.(N-A))$ or $\lambda = (\lambda.A) + (\lambda.(N-A))$.

Proof. See [4, p. 596].

LEMMA 11. Let A_1, A_2, \dots, A_k be k ($k \geq 2$) disjoint nonempty subsets of N such that all the $2^k - 1$ sets obtained by considering the union of one or more sets in the collection $\{A_1, A_2, \dots, A_k\}$ are modular sets of λ . If $A = A_1 \cup A_2 \cup \dots \cup A_k$ then $\lambda.A$ is either equal to $(\lambda.A_1) \times (\lambda.A_2) \times \dots \times (\lambda.A_k)$ or $(\lambda.A_1) + (\lambda.A_2) + \dots + (\lambda.A_k)$.

Proof. We verify first that the assertion is true for $k = 2$. By hypothesis A_1, A_2 and $A_1 \cup A_2$ are modular sets of λ . By Lemma 9 we see that A_1 and A_2 are modular sets of $\lambda.(A_1 \cup A_2)$. The required assertion for the case $k = 2$ follows from Lemma 10. We shall use induction to show that the assertion is true for all k such that $2 \leq k \leq |N|$. Let the assertion be true for $k = r$ where r is such that $2 \leq r < |N|$. Consider now the case $k = r+1$. Let $B = A_1 \cup A_2 \cup \dots \cup A_r$. We note that $A = B \cup A_{r+1}$. The hypothesis of the Lemma states that A, B and A_{r+1} are modular sets of λ . By Lemma 9 we conclude that B and A_{r+1} are modular sets of $\lambda.A$. Since $A = B \cup A_{r+1}$, it follows from Lemmas 9 and 10 that either $\lambda.A = (\lambda.B) \times (\lambda.A_{r+1})$ or $(\lambda.A) = (\lambda.B) + (\lambda.A_{r+1})$. Since all of the $2^r - 1$ sets obtained from the collection $\{A_1, A_2, \dots, A_r\}$ are modular sets, it follows from the induction hypothesis that $\lambda.B$ is either equal to $(\lambda.A_1) \times (\lambda.A_2) \times \dots \times (\lambda.A_r)$ or $(\lambda.A_1) + (\lambda.A_2) + \dots + (\lambda.A_r)$. It is enough to show that

$$\lambda.A = (\lambda.B \times (\lambda.A_{r+1})) \Rightarrow \lambda.B = (\lambda.A_1) \times (\lambda.A_2) \times \dots \times (\lambda.A_r),$$

$$\lambda.A = (\lambda.B) + (\lambda.A_{r+1}) \Rightarrow \lambda.B = (\lambda.A_1) + (\lambda.A_2) + \dots + (\lambda.A_r).$$

Suppose $\lambda.B = (\lambda.A) \times (\lambda.A_{r+1})$ and $\lambda.B = (\lambda.A) + (\lambda.A_2) + \dots + (\lambda.A_r)$. We shall show that this will lead to a contradiction. We note that

$$(\lambda.A) = [(\lambda.A_1) + (\lambda.A_2) + \dots + (\lambda.A_r)] \times (\lambda.A_{r+1}).$$

Consider the set $D = A_r \cup A_{r+1}$. We note that D is a modular set of λ and by Lemma 9, it is also a modular set of $\lambda.A$. Since $A_{r+1} \subseteq D$, exactly one of the following two assertions must be satisfied:

$$(i) (\lambda.A)(A_{r+1} \cup X) = (\lambda.A)(X) \text{ for all } X \subseteq A-D,$$

$$(ii) (\lambda.A)(A_{r+1} \cup X) = (\lambda.A)(D \cup X) \text{ for all } X \subseteq A-D.$$

Let $C = A_1 \cup A_2 \cup \dots \cup A_{r-1}$. We note that $C \subseteq A-D$. It is easy to verify that $(\lambda.A)(C) = 0$, $(\lambda.A)(A_{r+1}) = 0$, $(\lambda.A)(A_{r+1} \cup C) = 1$ and $(\lambda.A)(D) = 1$. We see that (i) is violated for $X = C$ and (ii) is violated

for $X = \phi$. Hence D is not a modular set of $\lambda.A$ leading to a contradiction. The proof of the implication

$(\lambda.A) = (\lambda.B) + (\lambda.A_{r+1}) \Rightarrow \lambda.B = (\lambda.A_1) + (\lambda.A_2) + \dots + (\lambda.A_n)$,
is similar.

We now state the *Three Modules Theorem* and for its proof we refer to [3] or [4].

Three Modules Theorem: Let A_1, A_2 and A_3 be disjoint nonempty subsets of N . If $A_1 \cup A_2$ and $A_2 \cup A_3$ are modular sets of λ then

- (i) $A_1, A_2, A_3, A_1 \cup A_2$ and $A_1 \cup A_2 \cup A_3$ are all modular sets of λ ,
(ii) $\lambda.(A_1 \cup A_2 \cup A_3)$ is equal to either $(\lambda.A_1) \times (\lambda.A_2) \times (\lambda.A_3)$
or $(\lambda.A_1) + (\lambda.A_2) + \lambda.A_3$.

In Theorem 2 we state and prove a generalization of the Three Modules Theorem.

THEOREM 2. Let $A_1, \dots, A_2, \dots, A_k$ be ($k \geq 3$) disjoint nonempty subsets of N such that $A_1 \cup A_2, A_2 \cup A_3, \dots, A_{k-1} \cup A_k$ are modular sets of λ . If $A = A_1 \cup A_2 \cup \dots \cup A_k$, then

- (i) All the $2^k - 1$ sets obtained by considering the union of one or more sets in the collection $\{A_1, A_2, \dots, A_k\}$ are modular sets of λ .
(ii) $\lambda.A$ is either equal to $(\lambda.A_1) \times (\lambda.A_2) \times \dots \times (\lambda.A_r) + (\lambda.A_1) + (\lambda.A_2) + \dots + (\lambda.A_r)$.

Proof. Using Lemma 11 we note that (i) implies (ii). Hence it is sufficient to establish (i). By the Three Modules Theorem we see that the assertion is true for $k = 3$. We shall use induction to prove the general assertion. Suppose the assertion is true for $k = r$ where $3 \leq r < |N|$. We first show that for any i and j such that $1 \leq i \neq j \leq r + 1$, $A_i \cup A_j$ is a modular set of λ . Without loss of generality let $j > i$. If $j = i + 1$, there is nothing to prove. So let $j > i + 1$. By hypothesis of the theorem A_i, A_{i+1}, A_{i+2} are disjoint nonempty subsets of N such that $A_i \cup A_{i+1}$ and $A_{i+1} \cup A_{i+2}$ are modular sets of λ . By the Three Modules Theorem we conclude that $A_i \cup A_{i+2}$ is a modular set of λ . Now consider disjoint nonempty subsets A_i, A_{i+2} and A_{i+3} . Since $A_i \cup A_{i+2}$ and $A_{i+2} \cup A_{i+3}$ are modular sets of λ , we conclude from the Three Modules Theorem that $A_i \cup A_{i+3}$ is a modular set of λ and so on. From this result and the induction hypothesis we can conclude that all of the $2^{r+1} - 2$ sets obtained by considering the union of r or less sets in the collection $\{A_1, A_2, \dots, A_{r+1}\}$ are modular sets of λ . Thus we need only show that $A_1 \cup A_2 \cup \dots \cup A_{r+1}$ is a modular set. For this purpose consider the nonempty disjoint sets A_r, A_{r+1} and

$B = A_1 \cup A_2 \cup \dots \cup A_{r-1}$. We note that $B \cup A_r$ and $A_r \cup A_{r+1}$ are modular sets of λ . By the Three Modules Theorem we see that $A_1 \cup A_2 \cup \dots \cup A_r \cup A_{r+1}$ is a modular set of λ .

COROLLARY. All the nonempty subsets of N are modular sets of λ if and only if either $\alpha(\lambda) = \{N\}$ or $\beta(\lambda) = \{N\}$.

Proof. Suppose $\alpha(\lambda) = \{N\}$ and $A = \{j_1, j_2, \dots, j_r\} \subseteq N$. It follows that $\alpha(\lambda, A) = \{A\}$ and $\alpha(\lambda^*, A) = \{(j_i), \{j_1, j_2, \dots, j_r\}\}$. It now follows that $\lambda, A = (\lambda^*, A)^*$; that is A is a modular set of λ . The proof for the case when $\beta(\lambda) = \{N\}$ is similar. This proves the *if* part of the assertion. The *only if* part follows from Theorem 2.

ACKNOWLEDGEMENT

Professor R.H. Mohring in a personal communication has pointed out that the results of Lemma 11 and Theorem 2 of this paper follow from the more general results in [5] about *composition tree* and *algebraic and algorithmic aspects of substitution decomposition for set systems*. The authors would like to thank him for bringing out this to their notice.

REFERENCES

- [1] ASHENHURST, R.L. (1959), The decomposition of switching functions, *Proc. International Symposium on the Theory of Switching, Part I*, XXIX, Ann. Computation Lab. Howard, Howard University Press, Cambridge, 75-116.
- [2] BARLOW, R.L. AND PROSCHAN, F. (1975), *Statistical Theory of Life Testing and Reliability*, Holt, Rinehart and Winston, New York.
- [3] BINBAUM, Z.W. AND EKARY, J.D. (1965), Modules of coherent binary systems, *Journal of the Society of Industrial and Applied Mathematics*, 13, 444-462.
- [4] BUTTERWORTH, R.W. (1972), A set theoretic treatment of coherent systems, *SIAM J. Appl. Mathematics*, 22, 590-598.
- [5] MOHRING, R.H. AND RADEMACHER, F.J. (1984), Substitution decomposition of discrete structures and Connections to Combinatorial optimization, *Annals of Discrete Mathematics*, 19, 257-356.
- [6] RAMAMURTHY, K.G. AND PARTHASARTHY, T. (1983), A note on factorization of simple games, *Opsearch* 20, 170-174.
- [7] RAMAMURTHY, K.G. AND PARTHASARTHY, T. (1984), Contraction of simple games and its applications, *Opsearch*, 21, 167-171.
- [8] SHEAPLEY, L.S. (1967), *Compound Simple Games*, III, On Committees, Rand Rep. RH-5438-PR (1967), Santa Monica, Calif.